Aluminum Pull

UKF sauz

-

MAN&MACHINE
ELEMENTS

[UKF-BK-B]

I
f -
! f
Ll ”? RIEE |
A1 ! P ! L1 !
B 3XM B1
i
A L o EH 2K,
_ [UKF-Al—E
T
aR ) | uesue
f Lz @ REERITNLE SR B ER,
<
i [ ® NATEE, AREBESHSHTIER.
||l
- we ae
Ar_|_F BK THE
2xM SG TR
o BUSIETE ® G R IR AN AR (SUSXMT ), 1B IR
BHEES (BRI,
UKF-25-162-BK-A LMERIRS (BRARI)
\ ® B, RELIE O roHs
UKF
UKF-25-162-BK-A-P " R
x e,
! T HEEOR (R AhEIER)
RS AARER SUSXMT
EREARHNRS AR N, FECSRSNRREM P, (BLHHHRS)
mmﬂiﬂ B mm
= BEHA BRI
s A A1 L B1 B H h L1 P Lf M (N) RE(g) B R
UKF-25-162-BK-A 25 28 162 |19 38 55 36 128 |12 12 M8 1000 245 M8x12
UKF-25-162-SG-A 25 28 162 |19 38 65} 36 128 12 12 M8 1000 245 M8x 12
*1: FRANNEERT.
mém B mm
= BHEHA - BRI
s A A1 L H2 B H h P E Lf M (N) RE(g) B R~
UKF-25-162-BK-B 25 28 162 |28 38 57 38 22 16 M8 1000 230 M8x 16
UKF-25-162-SG-B 25 28 162 |28 38 57 38 22 16 M8 1000 230 M8x 16
*1: FANNEEEF.
TV TS - TR EEE = Poxxxx / ECZIED = P.xxxx

pAgbgic)

N NBK

0512-5290-1560

info@nbk1560-chn.com.cn

IR, BAS T

https://www.nbk1560-chn.com.cn/



